Chapter 1.notebook

Unit 1 Study Guide

June 09, 2014

that are perfect
s50.Jares,

oot s a repeating or
terminating decimal.

Skill Description Example
‘danlily lractions A fracton is a perfect 16 4y
that are perfect sguare i it can be written as B3 5
squares and f nd the product of 2 equal 16— 4
their square roots. fractions. The sgua‘e root is P

one of the 2 equal fractions.
Identify decimals Use a calculator. The square | 775 = 1.3

Estimate square
roots of numbers
that are not perfect
SOUAres.

F nd perfect squares close to
the numbe:.

Use the squares and sguare
roats number lings.

3 - 'g =2 3isrioseto 4
= 10 is close to 9,

Caleulate the
surface area of
a compsile object.

Add the areas of each of
tha B views.

Or

Add surface areas of the
parts, then subtract for the
overlap.

®

T

The surface Leftslia
area is 14

square units. . . . .

S EEH

84 = 125.66 om?

“-Arsa = 12 57 cm?
54 =216 cm?

216 — 125,66 — 2{12.57)
= 316.52
The surface area is about 317 cmé,
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Calculate the number whose square roct is:

a) 2 b) 2.9
K

G4 x99 —
9.9 is g square root of

4 =

is @ square roet of .

| |

. Complete the table,

Fraction | Is numerator a perfect Is denominator a
stjuare? perfect square?

Is fraction a perfect
sguare?

al | &

b)

r.]%

. Complete the table,

Decimal | Value of Square | Type of Decimal
Root

Is decimal a
perfect squarey

a) | 5.29

b)| 156.25

)| B4

. Find ~he square raot of each numbe-

25 - b) 5929
(A

aj

. Estimate \-'Hﬁg. Explain vour estimate,

14.5 is between and

So, J145is belween J and | . That is, {14505 betwesn and

Sinca 14.5 is closer ta than J1£50s closer to than .

%o, \.'m is between and c8nd closerto
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6. Estimate each square root. Explain.

3 [
a) |2 By 1l
) Y13 y y70
2 is close to 1 13 is close to . 11 is close 10 ; 70 is close 1o .
50, [Z & |— S0, [ = |
‘Y13 {70

f — —
7. 1dentify a decimal that has a square root between the two given numbers,
Check the answar.

a) 7and 3
22=_ ad3*-_
so, any number between ___ and ____ has a square root between 2 and 3.
Choose .
Cheek: j___ = _
The decimal _____is one possible answer,
b) £.5and 7.5
= and =
S0, any number between _ and _ has a square root between 6.5 and 7.5.

Chaose .
Check: | =

The decimal i5 one possible answer,

8. Find the length of the hypotenuse of each right triangle.

a) b)
h 7.8cm ) 7.1cm
4.2 om 10.5cm
he = + ht =
hz - -+ h2 = +
h? = h? =
h= I h=
h=__ h=___
The length of the hypotanuse is
about cm.
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EEN 9. 'his object is made from 1-cm cubes. Find 'ts surface area,

Matching Views | Diagram Corresponding Area (cm?)

Total

The surface area is cmZ,

10. Calculate the surface area
of this composite object.

Surface area of cuba

Matching Faces | Diagram Carrespanding Area fcm?)

e

S A— B X _ )=

SR —

Total The surface area is che.
Surface area of rectangular prism

Matching Faces | Diagram Corresponding Area (cm?)

Y Sap—

_f

e

EE The surlace area is o,
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Area of gverlap

Diagram Corresponding Area (em?)
e >< —_— = e —
L4 wamposite object = +

June 09, 2014

The area of overlapis __ em?.

= + -

Tre surface area of the composite abject is

EEN11. Find the surface area of this compesite chiject.

V7 N\

2ecm

4 t:m4 s

—8 cm—-

Surface area of rectangular prism

cme.

Surface area of triangular prism

Matching | Diagram Carresponding Matching Diagram Carresponding
Faces Area {em?) Faces Area {tm?)
Triangular
Rectangular
Total —
The surface area is cme, Total
gisajoiioverRp The surface area is .
Diagram Corresponding Area (cm?)
The area of overlap is cm?,
SA = + -
The surface area of the composite object is cm’.
Capyright & 2010 Pearsen Canada nc. 49
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12. Find the surface area of this composite object.

12 cm
16 ot I4 cm

12 ¢cm
The large- cylinder has diameter Cm, 50 its radius is __ cm,
The srualler eylinder has diameter o, 50 its rad us is cr.

Surface area of smaller cylinder

Matching Faces | Diagram Correspanding Area {cm?)
Top % » -
Rottom - -

Curved surface

Tertal

The surface area is about cme,

Surface area of larger cylinder
Matching Faces | Diagram Corresponding Area (cm?}

Tap
Bottom

Curved surface == — =

Total

The surface area is about e,

Area of overlap

Diagram | Corresponding Area {cm?)

bt =

Tne area of overlap is asout omé,

Surface area o the composite object — _ +

Tne surface area is ahout o,
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